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Ejercicios:

14. Bond Pricing. Fill in the Table below for the following zero-coupon bonds. The face value of each bond is $1000.

Price


Maturity (Years)


Yield to Maturity

$300



30




5%

$300



19




8%

$500



10




10%

P=MV/(1+r)t

18. Portfolio Analysis. Use the data in the previous problem and consider a portfolio with weights of .60 in stocks and .40 in bonds
a. What is the rate of return on the portfolio in each scenario?

b. What is the expected rate of return and standard deviation of the portfolio?

c. Would you prefer to invest in the portfolio, in stocks only, or in bonds only?

   Rate of return

  Portfolio
Scenario

Probability 

Stocks
Bonds
Return, %ª
Recession


.20

-5%

+14%
  2.6%
Normal Economy

.60

+15

+8

12.2%
Boom



.20

+25

+4

16.6%
a. Expected Return=[.2 x 2.6%] + [.6 x 12.2%] + [.2 x 16.6%]=11.16%

b. Variance
=[.2 x (2.6-12.2)²] + [.6 x (12.2-12.2)²] + [.2 x (16.6-12.2) ²]=    22.30
c. Standard Deviation= 4.7%
(Portfolio Return)

[.60 x (-5%)] + [.40 x 14%] =2.6%

[.60 x 15%] + [.40 x 8] =12.2%

[.60 x 25%] + [.40 x 4%] =16.6%
Prairie Home Stores mini-case 

38. NPV/IRR. Growth Enterprises believes its latest project, which will cost $80,000 to install, will generate a perpetual growing stream of cash flows. Cash flow at the end of this year will be $5,000, and cash flows in future years are expected to grow indefinitely at an annual rate of 5 percent.
a. If the discount rate for this project is 10 percent, what is the project NPV?

b. What is the projected IRR?
a. PV=5250/(.1-.05)

=105,000

NPV=105,000-80,000

      =25,000

b. IRR= 25,000 / 80,000+ .3125 ó 31.3%
